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Qf (x+o)ax= ¢ f (et
6.4
[h) (‘Scos2 xdx 2 (‘5 a- xdx
a -3 dx
3 AXxJa- xdx 4 AN —
Q 0T -a
6.5
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b
\

1 Qf(x)dx:%d)fd(x)(x- a)(x- b)dx

b (b- a)?®
2 Qf(x)dx‘E - (a?%fﬁ(xﬂ
. ompdN X
nI!@nJ¥ de-O (p>0)
fo [op]

1 lim (‘5” f(x)sn | xdx =0
| ® +¥

L _
2 ||!@nj¥Q f (x)cos| xdx =0

f(x) [02p]
1 2 i

b ==q f dx3 0
N pQ (X)9n nxdx
fx) [ p.p]
b, =p1c‘§p f (x) S 2nxdx 3 0
pié’p f (x)sn(2n + 1) xdx £ O
f(x) [o]

b2n+l =

1 $q1 (0))
Qf ()dx =af (0)+ (L- q) ()
2 "c>f(0) $qT1 (0))

6f(x)dx=qc+(1- q)f @)

150



6.36

Jdodx _ Jdoodx _
1 Q1+x (n=8) 2 QW (n=10)
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